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QUIZ #4

1.  You have isolated a certain bacterial strain that can convert two-thirds of the substrate carbon to biomass.  Calculate the cell yield coefficient and the oxygen and ammonia requirements in mg/L for a substrate concentration of 135 mg/L.

C16H34  + a O2  + b NH3  =   c (C4.4H 7.3 N 0.86 O 1..2) + d H2O + eCO2
MW (C = 12, O = 16, H=1, N=14)

2. Determine the amount of (NH4)2SO4 in mg/L to be supplied for the biodegradation of 100 mg/L of benzene (C6H6).  Assume a yield coefficient of 0.54 and C5H7O2N for biomass.  

Assume all nitrogen is incorporated into cell mass and the SO4 gets converted to H2SO4.

3.  The growth of S. cerevisiae on glucose under anaerobic conditions can be described as follows:

C6H12O6 + b NH3  = 0.59CH1.74N0.2O 0.45 (biomass) + 0.43 C3H8O3 + 

1.54 CO2 + 1.3 C2H5OH + 0.36 H2O







